XYZ,=96.42, 100.0 , 82.49

B,= 258, (b,~b,) Y

3= a5 [ (X=X ) /Y
by=tylz/y

=1, byy=-04

X, = 0,110, B, = 1,000
Crg=[AF+B

6 Ostwaldcolours (o)

of maximum (m) C,g in
linear colour space Cyg 5. Y)
lllumin. D50, ¥,,=100 Y\=0 0B & —p—r
Name Range X, Y, Z, X, ¥, A A

R, 5707756495 4011 021 06169 0.381 568 4gD0

Y, 496 7758313 94.04 441 04577 05178573 468

G, 496 570 18.36 5413 437 0.2389 0.7041538 538

C, 380570 31.66 60.08 82.44 0.1817 0.3449 491 598 Parameter:
B, 380496 13.48 6.15 78.04 01377 0.0628 468 573 Y & Name
M, 570_496 78.24 46.06 78.29 03862 02273 5380538 i
570,
W,,380_775 96.42 100.0 8249 0.3457 0.3585 100% Nluminant DSO
N, 380_775009 01 008 03455 0.3583 0% Y,,=100 Y, =0

7, 380_7751735 180 1484 0.3457 0.3585 18%
BEJ50-2A




